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TH4 | EE208% JIFAMKXGKE (£204) T3

TEHEX Sy - THE - R B {7 % & A bl iR
JERRH R =X 95, 249, 176
HEELT = 33, 947, 262
BEARRE AT = 105, 200 | B&IA (SEER) 1 20 m3
2. 5mATH
AR AT (ICT) = 20, 715, 420 | B& A (E52) A& 1 (ICT) 19, 000 m3
b 8, 690 m3
0 Cabl- EHIRY £5Te) ;
b E 4,950 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 13, 600 m3
+Hw 550, 000m3 AT ;
PSR+ T (ICT) = 4,924,380 | BEARRK L (ICT) 2,700 m3
b E 2,980 m3
0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 3, 000 m3
+Hw 550, 000m3 AT ;
EEEEIE T (ICT) = 1,794, 112 |{EmEETE (G) L5 (ICT) 870 m2
VY = W R OWSE = CREPE L
BRI (B 1356) (ICT) 1,870 m2
EmEAFE O L
[ Bk 3R T = 6, 408, 150 |[PhHELy—} 3,590 m2
t=2. OmmPA I ;
MR B T = 23, 324, 000
+THE%BET = 23,324,000 | HELE 14, 000 m3
BiEEA K 30kg/m3 ;
7wy (GE) T 2 4,054, 559
EELT = 378,328 |FRIEY 1 =X
+4)
HEL 1 X
+4) ;
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TSy « TfE - FER B {7 ¥ & & # A bl A iR
VIR VAR YR N EVZA I VAR PYZ ) = 1 3,676,231 |BLGFTHAE ) -} 60 m
18-8-40 (7547) JEIE 52cm & 30cm ;
/) =h (R3%0) 7" ny ) il 102 m2
A - BEARS (W) 30 m3
FARAG RC-40 ;
Bl HT Rbiav - 4 m3
18-8-25 () ;
HEKHEEY T = 1 18, 905, 397
e+ T 2 1 495,177 |FRIEY 1 X
+4)
i 1 X
+4)
HEL 1 2V
+4)
FLE e 1 =
AR T = 1 3,855,332 | ZMI/KE 41 m
800X 1300 ;
H 2B RS 60 m
300 X 500~700 ;
NS 48 e
300 (@A) B BB 2v7)-b2 (L=500)
NS 12 e
300 (KA B BB 2v7)-b2 (L=500)
HEAKT = 1 14, 554, 888 | /NExHE/K 119 m
300X 300 ;
CEUEVZAR 216 m2
CINBEHEA)
t=5cm 18-8-25 (20) (&¥F)
CEUEVZAR 89 m2
t=10cm 18-8-25(20) (F&47) ;
UEIE 2,121 m2
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TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
t=5cm 18-8-25 (20) (&) W/CHIEML ;
ARAHEKE 119 m
HORifea S-20 ;
A HKE 59 m
HORifea S-20 ;
SN 59 m
An=7" R, E &50em X IF120cm EIZEA 150-200 ;
Bh AT L 2 1 1, 470, 720
B LA T 2 1 1,470,720 |FeiE7 ny), SR RLE 60 &
FMAE LR ¢ 101. 6 X 3. 2X600mn ;
A - SAE (ST B 1R 120 m
2mLL T 2m ;
s ALER T = 1 6, 687, 300
S BSLERVEZE T = 1 6, 687, 300 |InAfEZE 1 =X
brE 212, 000 m2
PARHAN
(233 30, 400 m2
JEHNT
HEE L = 1 23, 856
REVEITUE L T = 1 16,162 |2/))-MEEWEUE L 2 m3
HAEEY Bl T
TR AL T = 1 7,694 | EEW 2 m3
av ) -bik (BER5)
By 2 m3
av ) -bak (BERR)
I 2 1 6, 836, 082
THEHER T 2 1 5,166, 462 | fiig s 2 1 =X
ezl 130 m2
e 300mm ;
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TEHX4y « Tfd - FER B Az W B & #A i il A R
VE#IE 1k T = 1 1,539,480 | H/AKALEE R 1 =
AL 10m3 /hiflk ;

AEEHE T = 1 130, 140 | AZ1@FHEZAH 8 1 =
[ERAE Xy = 1 95, 249, 176
IR 2 1 11, 851, 580
BISTIGE: = 1 2,231, 580

HeffrE sy = 1 1,289,580 |{R5FEHL(ICT) 1 =

YATLIE 2 (ICT) 1 F2V

B R F AT -MERE 1 =
BGRESGESE (5 L) = 1 942, 000
B (FEHL) = 1 9, 620, 000
T = 1 107, 100, 756
Bl gy 2 1 33, 340, 000
T =5l = 1 140, 440, 756
— R A 2 1 23, 029, 244
TS 2 1 163, 470, 000
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